7000 GeV pp Soft QCD
T 105 T e A R = I
s E . 39
= - Cross section(Mx < 200 Ge\f) 13
o | e
1= ==
= A
~ 1S
L | 1
10t g—770707070 55— e E%‘j
= 3=
= i[04
107 & 5
- 15
S 3
107 £ E
— -] ©
— — O
— — ™M
- 1
B} =
10" == = ALICE =%
~  --3-- Herwig 7.1.1 default q4<
— —— Pythia 8.301 default =
107> =4 Sherpa-2.1.1-defauft - ¢ ---------------------------------------------------- = ?3_
= ' 33
o
- -1 O
1n—6 :!_ I | | | ! | | | | } —!: E
2 & =2
L - .
o -
-
= - i
e 1 1
o B |
2 B _
Y B —
I P _
0.5 i 0.5

7000.5
sgrt{s} [GeV]



	Contents
	Page 1


